
Naam: 　　　　　　　 Datum: 　　　　　　 Score: 　　　

Rekenen van integere exponenten

(−1) − (−9) =0 (−8) + 3 =2

2 − (−3) = (−6) + (−1) =2

9 − 5 = (−1) − (−8) =2

7 + (−2) = (−6) − 3 =3

2 − (−8) =2 (−5) − 10 =0

3 − (−8) =3 (−7) + (−3) =3

(−8) + (−3) =3 8 − 3 =3

3 + 8 =2 8 − 8 =2

4 − (−1) =2 10 + (−5) =3

(−7) − 7 = 2 + (−7) =2
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Naam: 　　　　　　　 Datum: 　　　　　　 Score: 　　　

Rekenen van integere exponenten

(−1) − (−9) = 100 (−8) + 3 = 672

2 − (−3) = 5 (−6) + (−1) = 352

9 − 5 = 4 (−1) − (−8) = 92

7 + (−2) = 5 (−6) − 3 = (−219)3

2 − (−8) = 122 (−5) − 10 = (−9)0

3 − (−8) = 353 (−7) + (−3) = (−346)3

(−8) + (−3) = (−515)3 8 − 3 = 5093

3 + 8 = 172 8 − 8 = 562

4 − (−1) = 172 10 + (−5) = 9953

(−7) − 7 = (−14) 2 + (−7) = (−3)2
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